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T 5 K K =
HHX3—2 BEWIERTSEEESNSEHEICHT SR HEEE | 2h ] 9
iE p ) fi B| ERHES | A093117 | ER A | NARORG) | et S FERE G KRBT HE
R ES T RFDEEN(m) Tt ERORRAFDKN/mD) | BEMOT AP2IN/m2)| #ErAIRES | tEROBEENM) | LEROFEEAFDKN/mD) | BEMOF HP2N/m2)
No.O 1.638173000 29.06025000 5.439004000
Mol 1.683571000 26.82291000 5.353687000
M.2 1.461468000 19.475681000 5.836321000
M3 1.259057000 156.11970000 6.458703000
M4 1.198951000 12.32579000 6.689859000
Mo.5 1.287403000 11.255687000 6.3568012000
MNo.6 1.843230000 10.47237000 6.173679000
Mo.7 1.238295000 9.34146900 6.5635732000
M8 1.004766000 8.02447900 7.645432000
Mo.9 1.043366000 7.44173100 7.424958000
MNo.10 1.0562633000 7.20404300 7.374589000
M.11 1.098268000 6.22892500 7.139811000
M.12 1.083580000 6.39894100 7.213059000
MNo.13 1.090825000 6.31421800 7.176662000
No.14 1.090239000 6.32101200 7.1795688000
No.15 1.068665000 6.578580100 7.289655000
M.16 1.229652000 4.49378600 6.568655000
Nol17 0.000000000 0.00000000 0.000000000
M.18 0.000000000 0.00000000 0.000000000
M.19 0.000000000 0.00000000 0.000000000
M.20 0.000000000 0.00000000 0.000000000




